



St. Louis County, Minnesota

Date of Report: 5/15/2025 2:35:12 PM

General Details

 Parcel ID:
 725-0050-00390

 Document:
 Torrens - 920023.0

 Document Date:
 09/10/2012

Legal Description Details

Plat Name: LEANDER LAKE

Section Township Range Lot Block

Description: LOTS 37 38 AND 39

Taxpayer Details

Taxpayer NameKINNEY DERRICK Jand Address:7763 S BIRCH RIDGE RD

BRITT MN 55710

Owner Details

Owner Name KINNEY DERRICK J

Payable 2025 Tax Summary

2025 - Net Tax \$4,555.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$4,640.00

Current Tax Due (as of 5/14/2025)

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$2,320.00	2025 - 2nd Half Tax	\$2,320.00	2025 - 1st Half Tax Due	\$2,320.00	
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$2,320.00	
2025 - 1st Half Due	\$2,320.00	2025 - 2nd Half Due	\$2,320.00	2025 - Total Due	\$4,640.00	

Parcel Details

Property Address: 7763 BIRCH RIDGE RD S, BRITT MN

School District: 712
Tax Increment District: -

Property/Homesteader: KINNEY, DERRICK J

Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
201	1 - Owner Homestead (100.00% total)	\$149,500	\$315,600	\$465,100	\$0	\$0	-		
207	0 - Non Homestead	\$200	\$78,300	\$78,500	\$0	\$0	-		
	Total:	\$149,700	\$393,900	\$543,600	\$0	\$0	5626		





St. Louis County, Minnesota

Date of Report: 5/15/2025 2:35:12 PM

Land Details

Deeded Acres: 0.00 Waterfront: **LEANDER** Water Front Feet: 161.00

W - DRILLED WELL Water Code & Desc:

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

ot Width:	0.00					
ot Depth:	0.00					
ne dimensions shown are not tps://apps.stlouiscountymn.	ot guaranteed to be survegov/webPlatsIframe/frmF	ey quality. <i>P</i> latStatPop	Additional lot Up.aspx. If the	information can be nere are any quest	e found at ions, please email PropertyTa	ax@stlouiscountymn.gov
, ,,	<u> </u>			Details (RES)		, ,
Improvement Type	Year Built	Main Floor Ft ² Gross Area Ft ²		Basement Finish	Style Code & Desc.	
HOUSE	2016	1,144 1,144		AVG Quality / 286 Ft ²	RAM - RAMBL/RNCH	
Segment	Story	Width	Length	Area	Foundation	
BAS	1	26	20	520	WALKOUT BAS	SEMENT
BAS	1	26	24	624	WALKOUT BAS	SEMENT
DK	1	14	26	364	FLOATING	SLAB
Bath Count	Bedroom Count		Room C	ount	Fireplace Count	HVAC
2.0 BATHS	4 BEDROOMS		=		0	C&AC&EXCH, GAS
	In	nprovem	ent 2 Det	ails (GAR 30X	41)	
Improvement Type	Year Built	Main Floor Ft ² Gross Area Ft ²		Basement Finish	Style Code & Desc	
GARAGE	2018	1,230 1,230		-	ATTACHED	
Segment	Story	Width	Length	Area	Foundation	
BAS	1	30	41	1,230	FOUNDATION	
	In	nprovem	ent 3 Deta	ails (LQ FW S	ΓG)	
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc
STORAGE BUILDING	0	64	ļ	64	-	-
Segment	Story	Width	Length	Area	Foundation	
BAS	0	8	8	64	POST ON GROUND	
	lm	proveme	ent 4 Deta	ils (SLEEPER	/SA)	
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc
SLEEPER	0	22	4	224	-	-
Segment	Story	Width	Length	Area	Foundati	on
BAS	1	2	16	32	CANTILEVER	
BAS	1	10	16	160	BASEMENT WITH EXTERIOR ENTRANCE	
DKX	1	5	12	60	POST ON GROUND	

12

DKX

2 of 4

72

POST ON GROUND





St. Louis County, Minnesota

Date of Report: 5/15/2025 2:35:12 PM

		Improve	ement 5 F	Details (CABIN)			
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc	
HOUSE	1958	1,0	1,056 1,056		-	CAB - CABIN	
Segment	Story	Width	Length	Area	Foundation		
BAS	1	20	24	480	POST ON G	ROUND	
BAS	1	24	24	576	POST ON G	ROUND	
DK	1	8	10	80	POST ON G	ROUND	
DK	1	12	24	288	POST ON G	ROUND	
Bath Count	Bedroom Co	unt	Room C	Count	Fireplace Count	HVAC	
0.5 BATH	2 BEDROOI	MS	-		1 CENTRAL, GAS		
		Improv	ement 6 I	Details (SHED)			
Improvement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc	
STORAGE BUILDING	0	12	8	128	-	-	
Segment	Story	Width	Length	Area	Foundation		
BAS	1	8	16	128	POST ON G	ROUND	
		Improv	ement 7	Details (Patio)			
Improvement Type	Year Built	Main Floor Ft ² Gross Area Ft ²		Basement Finish	Style Code & Desc		
	0	28	8	288	-	ST - STAMPDSLAI	
Segment	Story	Width	Length	Area	Foundation		
BAS	0	12	24	288	-		
		Improveme	ent 8 Deta	ails (FABRIC CF	PT)		
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc	
STORAGE BUILDING	0	90)	90	-		
Segment	Story	Width	Length	Area	Foundation		
BAS	1	9	10	90	POST ON GROUND		
		Improv	ement 9	Details (Shed)			
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc	
STORAGE BUILDING	0	24	4	24	-	-	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	1	4	6	24	POST ON G	ROUND	
	Sale	s Reported	to the St	. Louis County	Auditor		
Sale Date		Purchase Price			CRV Number		
09/2012		\$145,000 (This is part of a multi parcel sale.)			198576		
05/2001		\$90,000 (This is part of a multi parcel sale.)				40435	





St. Louis County, Minnesota

Date of Report: 5/15/2025 2:35:12 PM

		A	ssessment Histo	ory		
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Land E	Def Ildg Net Tax IMV Capacity
	201	\$142,400	\$311,000	\$453,400	\$0	\$0 -
2024 Payable 2025	207	\$200	\$74,400	\$74,600	\$0	\$0 -
	Total	\$142,600	\$385,400	\$528,000	\$0	\$0 5,447.00
	201	\$136,100	\$295,300	\$431,400	\$0	\$0 -
2023 Payable 2024	207	\$200	\$70,700	\$70,900	\$0	\$0 -
•	Total	\$136,300	\$366,000	\$502,300	\$0	\$0 5,200.00
	201	\$136,100	\$295,300	\$431,400	\$0	\$0 -
2022 Payable 2023	207	\$200	\$78,900	\$79,100	\$0	\$0 -
	Total	\$136,300	\$374,200	\$510,500	\$0	\$0 5,303.00
	201	\$97,600	\$207,300	\$304,900	\$0	\$0 -
2021 Payable 2022	207	\$100	\$55,300	\$55,400	\$0	\$0 -
	Total		\$262,600	\$360,300	\$0	\$0 3,655.00
		1	Tax Detail Histor	у		·
		Special	Total Tax & Special		Taxable Building	
Tax Year	Tax	Assessments	Assessments	Taxable Land MV	MV	Total Taxable MV
2024	\$4,285.00	\$85.00	\$4,370.00	\$136,300	\$366,000	\$502,300
2023	\$4,607.00	\$85.00	\$4,692.00	\$136,300	\$374,200	\$510,500
2022	\$3,571.00	\$85.00	\$3,656.00	\$94,921	\$256,696	\$351,617

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.